/ !10i4 Inscribed Angles Geometry

What is an inscribed angle and how do you find its measure? k QJ/

f,fﬁemember When naming an angle using 3 letters, the letter in the middle is the vertex!!
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Determine whether each angle is an inscribed angle. Name the intercepted arc for the angle.
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What do we call this type of angle?
‘ 120

What is the value of x? i Q,O 0

How do we solve for y? 'i' [ 1 A‘/@? (—%0767/&? ’4 V(“)

The measure of the inscribed angle is ﬂdz the
measure of the intercepted arc!!

To find thg measure of the inscribed angle...

Inscribed Angle = ( In %@%0 £290 A fc
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Examples:

— N ®\ 4 .P
3. 1fmJR = 80°, findm LIMK = ;(f{)) Ly/Fy)

—_ ] AT < l, L T 4
a.1fm  MKS= 56°, find m IS 5(5‘({)_&8

Find the measure of?\l\.
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Example 5

In @), m/ 3=5xandm/4 =2x+9. Find the value of x.

5X:QX+7

Ix=T {x:s’]

If aright triangle is inscribed in a circle then the

l‘l Hﬂ; Dﬁm Us-C is the
0@154 m—é'téfL diameter of the circle.

If two inscribed angles intercept the same arc, then they are
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Example 6

in OK, GH is a diameter and m Z.GNH = 4x — 14.

Find the value of x.
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, Example?7

. @K m/[1=6x-5andm/2=3x- 4. Find the value of x.

A (=5 +3x-4- +70=180
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Ix

Ix=59

A circle can be circunL(‘nEea aro‘!’un a quadrilateral if and only if its opposite angles are supplementary.

Example 8: Find y and z.

yg( =)0

B mzA +mzecC = |§O°

msB+meD =] 507

2+?5:/S/Q | 3*4*”0:/‘%

E: 95°] 9=64)




NAME DATE PERIOD : oA
10-4 Practice
"“nscribed Angles

Find each measure.
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IX-Q3=2X+2D
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ALGEBRA FEi ch measure.
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y=I37 y=IF

13. PROBABILITY In OV, point C is randomly located so that it does not coincide
with points R or S. If m RS = 140, what is the probability that m Z RCS = 707
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P07 ~L08 H#[-20 q
- MM2G3b  Understand and use properties of central, inscnbed
and related angles,

MM2G3d ~ Justify measurements and relaho‘nshlps in cm:les
using geometric and algebraic praperties.
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Find the measure of the indicated angle or arc in OP.

* Find the measure of the mdlcated angle or arc in OP,
glven mLM = 84° and mKN = 116°.

8. mZJKL 6?0 9. msLMKL Z}(Q

(. 10. mLKMN S-KD M. mZJKM W

12. mALKLN S’XD 13, mZLNM MD

14. mMJ ‘5?5@

In Exercises 16-18, find the values of the variables.




Exercise Set A (continued)

Iir Exercises 19-21, find the values of the variables.” .

20. B 21 age F
A =~ E

84° 162°

D \' 4x° ' =
goe C H 45° G
22. Multiple Choice What is the value of x in the figure shown? B (9x + 21 50

A. 7 ’ B. 12

c. 16 " D. 21
. : A c
23. Proof Copy and complete the proof. A Q
L GIVEN: OP ‘ &
. ' C
PROVE: AAED ~ ABEC :
D .
Statements Reasons
“1.0P _ 1. Given :
2. _?7° “ | 2.Vertical Angles Theorem (Two angles are vertical angles if their

sides form two pairs of opposite rays. The Vertical Angles Theorem
states that vertical angles are congruent.)

A 3. 4CAD = /DBC 3.7

.4.AAED~AB:E_C'- "l a2

24. Proof Copy and complete the proof. B

GIVEN: 4B = CD g
PROVE:AABE = ADCE c . ~
Statements - - Reasons ?
1.4B = CD ) Al __2_
2. 2 © | 2.Theorem 6.5
8. ? 3. Vertical Angles Theorem (Two angles are vertical angles if their )

sides form two pairs of opposite rays. The Vertical Angles Theorem
states that vertical angles are congruent.)

4. /BDC = /CAB 4. 9
5. AABE = ADCE 5.2 {'
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